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MHBEEREEA=(DRHNERZEM+QBE L=/ \—Y )L —ERFREE+Q)ENE H R EE

+@EENHEEEEE = Fid 4.98 |F:]/kWh
(1) $R¥4 2 BRI 22 B fiff = (SE 9 HAFHEIAE —37,200/9) x EAEEffi+1,000 = 3.21|M/kWh
2024411 8 ~20255%1 A FH D & S aHTit&
A: 1KIET=Y O R H S 74,680 F a: 0.4699 EAEH 0.197 M
B: 1t&H7=Y D FHLNGIE#E 97,032 M B: 0.0000
C: 1t =Y DFH A RAME 23,360 [ 7 0.7879

EHREMER = AXxa +BxB +Vxy = 53500 H (100K BEIEHEA)

(2) BB —/N—H LY —E XA E = (B & F BT —0M) x REEB{H 1,000 = 0.00]F/kWh

20244511 A ~202551 B £ D E 5 #HHEHE

A: 1K&HT=Y D TR imEE 74,680 M a: 0.0000 HAEE(H 0.000 M
B: 1t&H71=YDFEHLNGEE 97,032 A B: 0.0000
C: tH-YDEHRRMmE 23,360 M Y 0.0000

HETMEER=AXa +Bx B +VXyr=0H (100M kBB HEA)

Q) HNENFEEME=A<BDIGE. HENHABEM=(A—B)XDX(1+HEREK) = 0.00]F4/kWh

A>COIGE . HENFAREM=(A—C)xDx(1+HEHRE) = 0.23]F/kWh

A: BIADITYTTSAREHE-(1-BRE) x F{BER 14.30 MADINT7ISARAEHE 11.97
B: =TI EAAE B (Fiik) 8.00 |RE 7.9%
C: BANFAEERAE M (Fitk) 14.00 SREEER 110%
D: BEIE 70%

4) FEHEHaE%EE 1.54| 1 /kWh
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MHEFHBEBOSMSE
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MEEA (T, B ARICKBIESIE EEDHFSFTIELHIA 1.3 /kWh) Z M B FREEM NS
E5IETHDTIHLEL BIBEBICTESIEETHhE TLVIZEET,

BHBREHEEME=DRHNERZREF+QES1-N\—YIIL—ERREEM+Q)ENE H AR EM

6.14|F':]/kWh

4.60

F1/kWh

EAE B

0.221 M

+HBRENHEHIBEE = Fid
(1) PR B B B B i = (SF 9 MARMEAE — 31,400F) x E#EEffi 1,000 =
2024411 8 ~20255%1 A FH D & S aHTit&
A TKISHT=Y O F R H 74,680 [ a: 0.1152
B: 1t&H7=Y D FHLNGIE#E 97,032 M B: 0.2714
C: 1tHf=Y DFEH A kMg 23,360 [ 7 0.7386
FHREEE = Axa +BxB +Vxy =52200H  (100AKBEERA)

() BB /N\—H )L —E AR Bl = (B 5T RIS —0F) x Z2EE{Hi<-1,000

20244511 A ~202551 B £ D E 5 #HHEHE

0.00

F/kWh

EAEH

0.000 M

A: 1KIHT-YD TR H 74,680 M 0.0000
B: 1t&H =YD FHILNGIEE 97,032 M 0.0000
C: 1tHT=YDTHH KA 23,360 M Y 0.0000
HMETHMEMER=Axa +Bx B8 +VXxr=0H (100 KFEIEHEA)

Q) HENABEM=A<BDHH. HENABEM=(A—B)xDX(1+HEREK) =
ASCOZE . HENAEEM=(A—C)XxDx(1+HERE) =

0.00

0.00

A: BIADIUTZTSARTEHE (148K ER) x R 13.79
B: EITIAREEEMFHR) 7.00
C: BANFAEERAE M (Fitk) 14.00
D: BEIE 70%
4) ZENHEEBEE

MADINT7ISARAEHE

BEE

F1/kWh
F/kWh

11.47

8.5%

110%

1.54

F/kWh
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MHBEEREEA=(DRHNERZEM+QBE L=/ \—Y )L —ERFREE+Q)ENE H R EE

+ABEERHESHINE = Fid 6.04 |F:]/kWh
(1) B¥ B ARl = (X REHEE —44,200/) x EHEBff+1,000 = 4.50|F4/kWh
2024411 8 ~20255%1 A FH D & S aHTit&
A: 1K T=Y DT R REE 74,680 F a: 0.1970 EAEH 0.232 M
B: 1tdp7=Y D FHLNGHEHE 97,032 [ B: 0.4435
C: 1t =Y DFH A RAME 23,360 M 7 0.2512

EHREMER = AXxa +BxB +Vxy = 63600 H (100K BEIEHEA)

(2) BB —/N—H LY —E XA E = (B & F BT —0M) x REEB{H 1,000 = 0.00]F/kWh

20244511 A ~202551 B £ D E 5 #HHEHE

A: 1K&HT=Y D TR imEE 74,680 M a: 0.0000 HAEE(H 0.000 M
B: 1t&H71=YDFEHLNGEE 97,032 A B: 0.0000
C: tH-YDEHRRMmE 23,360 M Y 0.0000

HETMEER=AXa +Bx B +VXyr=0H (100M kBB HEA)

Q) HNENFEEME=A<BDIGE. HENHABEM=(A—B)XDX(1+HEREK) = 0.00]F4/kWh

A>COIGE . HENFAREM=(A—C)xDx(1+HEHRE) = 0.00]F/kWh

A: BIADITYTTSAREHE-(1-BRE) x F{BER 13.98 MADINT7ISARAEHE 11.83
B: =TI EAAE B (Fiik) 7.00 |RE 6.9%
C: BANFAEERAE M (Fitk) 14.00 SREEER 110%
D: BEIE 70%

4) FEHEHaE%EE 1.54| 1 /kWh
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MHBEEREEA=(DRHNERZEM+QBE L=/ \—Y )L —ERFREE+Q)ENE H R EE

+ABEERHESHINE = Fid 5.68 |F:]/kWh
(1) BR¥ B ARl = (X PREHEE —45,900/) x EHEHffi+1,000 = 2.94|M/kWh
2024411 8 ~20255%1 A FH D & S aHTit&
A: 1K T=Y DT R REE 74,680 F a: 0.0275 EAEH 0.233 M
B: 1tdp7=Y D FHLNGHEHE 97,032 [ B: 0.4792
C: 1t =Y DFH A RAME 23,360 M 7 0.4275

EHREMER = AXxa +BxB +Vxy = 58500 H (100K BEIEHEA)

(2) BB —/N—H LY —E XA E = (B & F BT —0M) x REEB{H 1,000 = 0.00]F/kWh

20244511 A ~202551 B £ D E 5 #HHEHE

A: 1K&HT=Y D TR imEE 74,680 M a: 0.0000 HAEE(H 0.000 M
B: 1t&H71=YDFEHLNGEE 97,032 A B: 0.0000
C: tH-YDEHRRMmE 23,360 M Y 0.0000

HETMEER=AXa +Bx B +VXyr=0H (100M kBB HEA)

Q) HNENFEEME=A<BDIGE. HENHABEM=(A—B)XDX(1+HEREK) = 0.00]F4/kWh

A>COIGE . HENFAREM=(A—C)xDx(1+HEHRE) = 1.20)F9/kWh

A: BIADITYTTSAREHE-(1-BRE) x F{BER 1455 MADINT7ISARAEHE 12.29
B: =TI EAAE B (Fiik) 5.00 |RE 7.1%
C: BANFAEERAE M (Fitk) 13.00 SREEER 110%
D: BEIE 70%

4) FEHEHaE%EE 1.54| 1 /kWh
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BHBREHEEME=DRHNERZREF+QES1-N\—YIIL—ERREEM+Q)ENE H AR EM

6.21 |F':l/ kWh

3.54

F1/kWh

EAE B

0.161 M

+HBRENHEHIBEE = Fid
(1) BAR B SR B B i = (SF 9 BARMEAE — 21,900 ) x E#EE {1,000 =
2024411 8 ~20255%1 A FH D & S aHTit&
A TKISHT=Y O F R H 74,680 [ a: 0.2303
B: 1t&H7=Y D FHLNGIE#E 97,032 M B: 0.0000
C: 1tdH1=Y DFEH A R % 23,360 M 7 1.1441
FHREEE = Axa +BxB +Vxy =43900F  (100AKFHEERA)

() BB /N\—H )L —E AR Bl = (B 5T RIS —0F) x Z2EE{Hi<-1,000

20244511 A ~202551 B £ D E 5 #HHEHE

0.00

F/kWh

EAEH

0.000 M

A: 1KIHT-YD TR H 74,680 M 0.0000
B: 1t&H =YD FHILNGIEE 97,032 M 0.0000
C: 1tHT=YDTHH KA 23,360 M Y 0.0000
HMETHMEMER=Axa +Bx B8 +VXxr=0H (100 KFEIEHEA)

Q) HENABEM=A<BDHH. HENABEM=(A—B)xDX(1+HEREK) =
ASCOZE . HENAEEM=(A—C)XxDx(1+HERE) =

0.00

1.13

A: BIADITYTTSAREHE-(1-BRE) x F{BER 14.47
B: EITIAREEEMFHR) 5.00
C: BANFAEERAE M (Fitk) 13.00
D: BEIE 70%
4) ZENHEEBEE

MADINT7ISARAEHE

BEE

F1/kWh
F/kWh

1213

7.8%

110%

1.54

F/kWh
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an
cu

MHESFRBEM=>)REERBEM + B S —/ \—Y )L Y —E RFRE M+ Q)ENE H IR El

+@RFENHEHEE= BAD15kWhET (VN 10094 |
L Lis Biia 6.73 FH/kWh
(1) R & IR B Bl = (F9 R4S —27,100M) x EEEH {1,000 = BHD15kWhET 60.89|M
2024511 8 ~202551 A FH 0D B S sHEE LEC S 4.06]F/kWh
A 1KY O REHE 74,680 M a: 0.0140
B: 1t&H7=Y DFHLNGIHE# 97,032 M B: 0.3483 ~ 15kWhZEL 2£ B {ifi 2.475 M
C: 1H-YDFEHYR R 23,360 M Y: 0.7227 16kWh~ ZL B ffy 0.165 M

EHREMER = Axa +Bx B8 +VXy = 51,700 H (100K FBMmIERA)

Q) BEI=—/N—H LY —E XA = B S TR EHEE —0M) x ZEBH1,000 = 0.00|F4/kWh
2024511 A ~20255%E1 A D & 5 #HisHmE
A 1kidp=Y O FEH[RHmE 74,680 [ a: 0.0000 HAEBMH 0.000 M
B: 1tdh1=YDEHLNGIEIE 97,032 M B 0.0000
C: 1tH-YDFHR XM 23,360 M Y 0.0000
BETHMEMER=AXxa +BxB +Vxy=0H (100 KXHmMmIERAN)
Q) HEHFARHEM=A<BDIGE. HHENFHREM=(A—B)XxDX(1+HEREK) = 0.00JF3/kWh
A>CHIGE . HENFAREM=(A—C)xDx(1+H&EMHK) = 1.13|MH/kWh
A: BIADITUTZTSAREHE-(1-BLER) x FHER 14.47 BMABADOIVTTSAREY(E 12.13
B: ZEITIAREEEM(Fiik) 5.00 |RE 7.8%
C: BINFREERAE B (Fuik) 13.00 R 110%
D: MEIE 70%
4) REllHE£aiR%E 1.54]F/kWh
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MEEA (T, B ARICKDIESIE EEDHEFSFTIEHIA1.3F/kWh) Z A & FR M Ao
[E5IETHDTEAEL AEBICTESIZZTHOETWEEEET,

an
cu

MHESFRBEM=>)REERBEM + B S —/ \—Y )L Y —E RFRE M+ Q)ENE H IR El

+@RFENHEHEE= BAD15kWhET (VN 11552 |
L Lis Biia 7.69 FH/kWh
(1) $RF B IR B Bl = (F 94 — 26,000/ ) x EAEH {1,000 = U D15kWhET 78.02|M
2024511 8 ~202551 A FH 0D B S sHEE LEC S 5.19]H/kWh
A 1KY O REHE 74,680 M a: 0.1543
B: 1t&H7=Y DFHLNGIHE# 97,032 M B: 0.1322 ~ 15kWhZEL 2£ B {ifi 3.680 M
C: 1H-YDFEHYR R 23,360 M Y: 0.9761 16kWh~ ZL B ffy 0.245 M

EHREMER = Axa +Bx B8 +VXy = 47200 H (100K FBMmIERA)

Q) BEI=—/N—H LY —E XA = B S TR EHEE —0M) x ZEBH1,000 = 0.00|F4/kWh
2024511 A ~20255%E1 A D & 5 #HisHmE
A 1kidp=Y O FEH[RHmE 74,680 [ a: 0.0000 HAEBMH 0.000 M
B: 1tdh1=YDEHLNGIEIE 97,032 M B 0.0000
C: 1tH-YDFHR XM 23,360 M Y 0.0000
BETHMEMER=AXxa +BxB +Vxy=0H (100 KXHmMmIERAN)
Q) HEHFARHEM=A<BDIGE. HHENFHREM=(A—B)XxDX(1+HEREK) = 0.00JF3/kWh
A>CHIGE . HENFAREM=(A—C)xDx(1+H&EMHK) = 0.96]F1/kWh
A: BIADITUTZTSAREHE-(1-BLER) x FHER 14.24 BMABADOIVTTSAREY(E 11.95
B: ZEITIAREEEM(Fiik) 5.00 |RE 7.7%
C: BINFREERAE B (Fuik) 13.00 R 110%
D: MEIE 70%
4) REllHE£aiR%E 1.54]F/kWh
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MEEA (T, B ARICKDIESIE EEDHEFSFTIEHIA1.3F/kWh) Z A & FR M Ao
[E5IETHDTEAEL AEBICTESIZZTHOETWEEEET,

an
cu

MHESFRBEM=>)REERBEM + B S —/ \—Y )L Y —E RFRE M+ Q)ENE H IR El

+OBERHSAAE= BAD15KWhET i 59.37 =]
L Lis Biia 5.40 FH/kWh
(1) $RF B IR B Bl = (F 94 — 26,000/ ) x EAEH {1,000 = BPD1IKWhET 42.43|M
2024511 8 ~202551 A FH 0D B S sHEE LEC S 3.86]/kWh
A 1KY O REHE 74,680 M a: 0.2104
B: 1t&H7=Y DFHLNGIHE# 97,032 M B: 0.0541 ~11kWhZEL 2£ B {ifi 2.154 M
C: 1H-YDFEHYR R 23,360 M 7: 1.0588 12kWh~ ZLZE B fffy 0.196 M

EHREMER = Axa +Bx B8 +VXy = 45700 H (100K FBMmIERA)

Q) BEI=—/N—H LY —E XA = B S TR EHEE —0M) x ZEBH1,000 = 0.00|F4/kWh
2024511 A ~20255%E1 A D & 5 #HisHmE
A 1kidp=Y O FEH[RHmE 74,680 [ a: 0.0000 HAEBMH 0.000 M
B: 1tdh1=YDEHLNGIEIE 97,032 M B 0.0000
C: 1tH-YDFHR XM 23,360 M Y 0.0000
BETHMEMER=AXxa +BxB +Vxy=0H (100 KXHmMmIERAN)
Q) HEHFARHEM=A<BDIGE. HHENFHREM=(A—B)XxDX(1+HEREK) = 0.00JF3/kWh
A>CHIGE . HENFAREM=(A—C)xDx(1+H&EMHK) = 0.00JF3/kWh
A: BIADITUTZTSAREHE-(1-BLER) x FHER 11.53 BADIUTZTSAREHIE 9.63
B: ZEITIAREEEM(Fiik) 5.00 |RE 8.1%
C: BINFREERAE B (Fuik) 13.00 R 110%
D: MEIE 70%
4) REllHE£aiR%E 1.54]F/kWh
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MEEA (T, B ARICKBIESIE EEDHFSFTIELHIA 1.3 /kWh) Z M B FREEM NS
E5IETHDTIHLEL BIBEBICTESIEETHhE TLVIZEET,
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MHBEEREEA=(DRHNERZEM+QBE L=/ \—Y )L —ERFREE+Q)ENE H R EE

+@EENHEEEEE = Fid 3.81 |F:]/kWh
(1) PR¥4 2 2R B2 B fiff = (SE#9 HARHEIAE —27,400/) x BB ffi 1,000 = 2.20|F/kWh
2024411 8 ~20255%1 A FH D & S aHTit&
A: 1KIET=Y O R H S 74,680 F a: 0.0053 EAEH 0.136 M
B: 1t&H7=Y D FHLNGIE#E 97,032 M B: 0.1861
C: 1tHf=Y DFEH A kMg 23,360 [ 7 1.0757

EHREMER = AXxa +BxB +Vxy = 43600 H (100K BEIEHEA)

(2) BES1=/N\—Y LY —ERFEEM= (B ST MR EHEHE —52,500/) x E#EE{H+1000 = 0.07|M/kWh
2024511 A ~202551 A EH D E S #faHESE
A TKISHT=Y O F Y RHEE 74,680 A a: 1.0000 EAEE 0.003 [
B: 1t&H =YD FHILNGIEE 97,032 M B: 0.0000
C: 1tHT=YDTHH KA 23,360 M Y 0.0000

BEENMEEE= AXxa + Bx B + VX y= 74700 H (100M kBB HEA)

Q) HNENFEEME=A<BDIGE. HENHABEM=(A—B)XDX(1+HEREK) = 0.00]F4/kWh
A>COIGE . HENFAREM=(A—C)xDx(1+HEHRE) = 0.00]F/kWh
A: BIADIUTZTSARTEHE (148K ER) x R 12.28 MADINT7ISARAEHE 10.20
B: =TI EAAE B (Fiik) 5.00 |RE 8.6%
C: BANFAEERAE M (Fitk) 13.00 SREEER 110%
D: BEIE 70%
(4) RERHEEIBEE 1.54|F/kWh
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